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Section A 

I. Choose the correct option . 

1.Social insects show a well -defined system of _______ of labour. 

  a) storage                                    b)stock                                   c) division  

2 . Shifting of people from one place to another due to government job. 

a) Transfer                           b) displacement                 c) international migration  

3.My uncle’s wife is my  

a) grandmother                          b)aunt                                      c) cousin  

II .Give one word answer for the following . 

1.People who migrate from their country to settle in any foreign country.  

2.New born ants that hatch from the eggs . 

3.Ant that die shortly after mating. 

III . Fill in the blanks . 

1.___________are the most social among all insects. 

2.A group of ants that live together forms a ___________. 

3.Government demolishes houses and buildings built on _______land. 

 

Section B 

IV .Very short type questions answers. 

1.List any two reasons of migration. 

2.Why do animals live in groups ?Give two reasons. 



Section C 

V .Long question answer  

1.Society help us to fulfil our basic needs.Justify your answer. 

Section D 

VI. Read the passage carefully and choose the correct option . 

There are three types of bees in a community. The queen bee,the worker bee and the drone 
bee.Queen bee is the only egg producing female in the community .Worker bees cannot 
mate or lay eggs .These are called sterile female.They do most of the work. They secrete 
wax, build honeycombs, collect nectar,pollen and water ,convert the nectar into honey, 
clean and protect the hive from enemies. 

1. Which bee can not lay eggs ? 

a) queen bee                                     b)  worker bee                                            c) none 

2.The only egg producing bee in the community. 

a) queen bee                                      b) sterile female                                       c) both a&b 

 

 

 

 

 

 


